Fill in this information to identify the case:				
Debtor	Waypoint Asset Company Number	1 (Ireland)	<u>Limi</u> ted	
United States Ba	ankruptcy Court for the: Southern	District of New	York	
Case number	18-13663	_	,	

Official Form 410

Proof of Claim 04/16

Read the instructions before filling out this form. This form is for making a claim for payment in a bankruptcy case. Do not use this form to make a request for payment of an administrative expense. Make such a request according to 11 U.S.C. § 503.

Filers must leave out or redact information that is entitled to privacy on this form or on any attached documents. Attach redacted copies or any documents that support the claim, such as promissory notes, purchase orders, invoices, itemized statements of running accounts, contracts, judgments, mortgages, and security agreements. **Do not send original documents;** they may be destroyed after scanning. If the documents are not available, explain in an attachment.

A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and 3571.

Fill in all the information about the claim as of the date the case was filed. That date is on the notice of bankruptcy (Form 309) that you received.

P	t 1: Identify the Claim			
1.	Who is the current creditor?	ABNR Counsellors at Law Name of the current creditor (the person or entity to be paid for this claim) Other names the creditor used with the debtor		
2.	Has this claim been acquired from someone else?	✓ No Yes. From whom?		
3.	Where should notices and	Where should notices to the creditor be sent?	Where should payments to the creditor be sent? (if different)	
	payments to the creditor be sent?	See summary page	· · · · · · · · · · · · · · · · · · ·	
	Federal Rule of Bankruptcy Procedure (FRBP) 2002(g)			
		Contact phone +62 21 250 5125 Contact email greerink@abnrlaw.com	Contact phone Contact email	
		Uniform claim identifier for electronic payments in chapter 13 (if you use o	one):	
4.	Does this claim amend one already filed?	✓ No✓ Yes. Claim number on court claims registry (if known)	Filed on	
5.	Do you know if anyone else has filed a proof of claim for this claim?	No Yes. Who made the earlier filing?		

Official Form 410 Proof of Claim

3.		✓ No			
	you use to identify the debtor?	Yes. Last 4 digits of the	debtor's account or a	iny number you use t	o identify the debtor:
	How much is the claim?	\$ <u>41413.31</u>	. Does	this amount includ	e interest or other charges?
					ent itemizing interest, fees, expenses, or other ed by Bankruptcy Rule 3001(c)(2)(A).
	What is the basis of the	Examples: Goods sold, mone	y loaned, lease, sen	vices performed, pers	sonal injury or wrongful death, or credit card.
	claim?	Attach redacted copies of any	documents support	ing the claim required	d by Bankruptcy Rule 3001(c).
		Limit disclosing information th	at is entitled to priva	cy, such as health ca	re information.
		<u>legal services perfo</u>	rmed		
	Is all or part of the claim	☑ No			
	secured?	Yes. The claim is secu	red by a lien on prop	erty.	
		Nature or proper	ty:		
				ed by the debtor's prir 410-A) with this <i>Proo</i>	nciple residence, file a Mortgage Proof of for Claim.
		☐ Motor vehicle	e		
		Other. Descri	ibe:		
		Basis for perfect	ion:		
			age, lien, certificate o		dence of perfection of a security interest (for ement, or other document that shows the lien
		Value of property	<i>y</i> :	\$	
		Amount of the cl	aim that is secured	l: \$	
		Amount of the cl	aim that is unsecur	red: \$	(The sum of the secured and unsecured amount should match the amount in line

Official Form 410	Proof of Claim	
11. Is this claim subject to a right of setoff?	✓ No✓ Yes. Identify the property:	
10. Is this claim based on a lease?	No Yes. Amount necessary to cure any default as of	the date of the petition.
	Annual Interest Rate (when case was filed) Fixed Variable	%
	Amount necessary to cure any default as of	the date of the petition: \$
	Amount of the claim that is unsecured: \$_	(The sum of the secured and unsecured amount should match the amount in line 7.)
	Amount of the claim that is secured: \$_	
	Value of property: \$_	
		nat show evidence of perfection of a security interest (for nancing statement, or other document that shows the lien
	Other. Describe:	
	Motor vehicle	
	Real estate: If the claim is secured by the Claim Attachment (Official Form 410-A) w	debtor's principle residence, file a <i>Mortgage Proof of</i> ith this <i>Proof of Claim</i> .

Official Form 410

12. Is all or part of the claim	☑ No		
entitled to priority under 11 U.S.C. § 507(a)?	Yes. Che	eck all that apply:	Amount entitled to priority
A claim may be partly priority and partly	 ☐ Dom 11 U	estic support obligations (including alimony and child support) under .S.C. § 507(a)(1)(A) or (a)(1)(B).	\$
nonpriority. For example, in some categories, the law limits the amount	Up to servi	o \$2,850* of deposits toward purchase, lease, or rental of property or ces for personal, family, or household use. 11 U.S.C. § 507(a)(7).	\$
entitled to priority.	days	es, salaries, or commissions (up to \$12,850*) earned within 180 before the bankruptcy petition is filed or the debtor's business ends, hever is earlier. 11 U.S.C. § 507(a)(4).	\$
	_	s or penalties owed to governmental units. 11 U.S.C. § 507(a)(8).	\$
	☐ Cont	ributions to an employee benefit plan. 11 U.S.C. § 507(a)(5).	\$
	☐ Othe	r. Specify subsection of 11 U.S.C. § 507(a)() that applies.	\$
	* Amount	s are subject to adjustment on 4/01/19 and every 3 years after that for cases begur	n on or after the date of adjustment.
13. Is all or part of the claim pursuant to 11 U.S.C. § 503(b)(9)?	days bef	cate the amount of your claim arising from the value of any goods rece ore the date of commencement of the above case, in which the goods ary course of such Debtor's business. Attach documentation supportin	have been sold to the Debtor in
	\$		
Part 3: Sign Below			
The person completing this proof of claim must sign and date it. FRBP 9011(b). If you file this claim electronically, FRBP 5005(a)(2) authorizes courts to establish local rules specifying what a signature is. A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and 3571.	I am the tru I am a guar I understand that the amount of the I have examined I declare under p Executed on date /s/Emir_Nurr Signature	editor. editor's attorney or authorized agent. stee, or the debtor, or their authorized agent. Bankruptcy Rule 3004. antor, surety, endorser, or other codebtor. Bankruptcy Rule 3005. an authorized signature on this <i>Proof of Claim</i> serves as an acknowledge claim, the creditor gave the debtor credit for any payments received to the information in this <i>Proof of Claim</i> and have reasonable belief that the benalty of perjury that the foregoing is true and correct. e	ward the debt. e information is true and correct.
	Contact phone	Email	

Official Form 410 **Proof of Claim**

KCC ePOC Electronic Claim Filing Summary

For phone assistance: Domestic (888) 733-1446 | International (310) 751-2635

Debtor:			
18-13663 - Waypoint Asset Company Number	1 (Ireland) Limited		
District:	()		
Southern District of New York, New York Division	on		
Creditor:	Has Supporting Do	cumentation:	
ABNR Counsellors at Law		ing documentation successfully uploaded	
Gustaaf Olivier Reerink	Related Document		
Graha CIMB Niaga 24th Floor			
Jalan Jend. Sudirman Kav. 58	Has Related Claim:		
Jakarta Salatan DKI Jakart 12100	No		
Jakarta Selatan, DKI Jakart, 12190 Indonesia	Related Claim Filed	By:	
Phone: Filing Party:			
+62 21 250 5125	Creditor		
Phone 2:	Orealion		
+628111038714			
Fax:			
Email:			
greerink@abnrlaw.com			
Other Names Used with Debtor:	Amends Claim:		
other Names osed with Debtor.		No	
		Acquired Claim:	
	No		
Basis of Claim:	Last 4 Digits:	Uniform Claim Identifier:	
legal services performed	No		
Total Amount of Claim:	Includes Interest or	Charges:	
41413.31	Yes		
Has Priority Claim:	Priority Under:		
No			
Has Secured Claim:	Nature of Secured A	Amount:	
No	Value of Property:		
Amount of 503(b)(9):	Annual Interest Rat	e:	
No Beard on Lease	Arrearage Amount:		
Based on Lease:	Basis for Perfection		
Subject to Right of Setoff:			
No	Amount Unsecured	i:	
Submitted By:			
Emir Nurmansyah on 28-May-2019 2:15:18 p.m	n. Eastern Time		
Title:			
Partner			
Company:			

ABNR Counsellors at Law

Fill in this inforn	nation to identify the case:
Debtor	
United States Bankr	ruptcy Court for the: Southern District of New York (State)

Official Form 410

Proof of Claim

04/16

Read the instructions before filling out this form. This form is for making a claim for payment in a bankruptcy case. Other than a claim under 11 U.S.C. § 503(b)(9), do not use this form to make a request for payment of an administrative expense. Make such a request according to 11 U.S.C. § 503.

Filers must leave out or redact information that is entitled to privacy on this form or on any attached documents. Attach redacted copies or any documents that support the claim, such as promissory notes, purchase orders, invoices, itemized statements of running accounts, contracts, judgments, mortgages, and security agreements. Do not send original documents; they may be destroyed after scanning. If the documents are not available, explain in an attachment.

A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and 3571.

Fill in all the information about the claim as of the date the case was filed.

P	Identify the Cla	im			
1.	Who is the current creditor?	Way point Asset Cov Name of the current creditor (the person or entity to be paid for this claim) Other names the creditor used with the debtor	npany	Number	-14
2.	Has this claim been acquired from someone else?	No Yes. From whom?			
3.	Where should notices and payments to the creditor be sent? Federal Rule of Bankruptcy Procedure (FRBP) 2002(q)	Where should notices to the creditor be sent? ABNR Counsellots at Law Name Graha CTMB Niaga - 24th Fl Talan J. Sudirman Wav 58 Number Street Jaharta Selatan 12190 City State ZIP Code	Where should p different) Name Number Street	payments to the creditor	be sent? (if
		City State ZIP Code Findules ia Country Contact phone 1 62 21250 5125 Contact email Churmansyah ab NR Law. com Uniform claim identifier for electronic payments in chapter 13 (if you use on	Country Contact phone _ Contact email _ ne):	State	ZIP Code
1.	Does this claim amend one already filed?	No Yes. Claim number on court claims registry (if known)		Filed on	/ ****
5.	Do you know if anyone else has filed a proof of claim for this claim?	No Yes. Who made the earlier filing?			
C	fficial Form 410	Proof of Claim page 1			

6. Do you have any number you use to identify the debtor's account or any number you use to identify the debtor: 7. How much is the claim? 8. What is the basis of the claim secured? 8. What is the basis of the claim secured? 9. Is all or part of the claim secured? 9. Is all or part of the claim secured? 9. Yes. The claim is secured by a lien on properly. 10. No. 11. Is this claim based on a lease? 12. Amount necessary to cure any default as of the date of the petition. 13. Amount necessary to cure any default as of the date of the petition. 14. Is this claim based on a lease? 15. Is this claim based on a lease? 16. Is this claim based on a lease? 17. Is this claim based on a lease? 18. Is this claim based on a lease? 19. Is this claim based on a lease?	C	official Form 410	Proof of Claim
you use to identify the debtor? 7. How much is the claim? 8. What is the basis of the claim? 8. What is the basis of the claim? 9. Is all or part of the claim Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor:	11.		
you use to identify the debtor? 7 How much is the claim? 8 How much is the claim? 8 What is the basis of the claim? 8 Examples: Goods sold, money loaned, lease, services performed, personal injury or wrongth, or credit card. Attach redacted copies of any documents supporting the claim required by Bankruptcy Rule 3001(c), Limit disclosing information that is entitled to privacy, such as health care information. 9 Is all or part of the claim secured? 1 No secured? 1 No Nature of property: 1 Real estate: if the claim is secured by a lien on property. 1 Nature of property: 1 Notor vehicle 2 Other. Describe: 2 Basis for perfection: 3 Attach redacted copies of documents, if any, that show evidence of perfection of a security interest (for example, a mortgage, lien, certificate of stile, financing statement, or other document that shows the lien has been flied or recorded.) Yalue of property: 4 Amount of the claim that is unsecured: 5 Amount should match the amount in line 7.) Amount necessary to cure any default as of the date of the petition: 8 Annual Interest Rate (when case was flied) 8 Annual Interest Rate (when case was flied) 9 Secure 2 Note of the claim of the elate of the petition: 9 Annual Interest Rate (when case was flied) 9 Annual Interest Rate (when case was flied)	10.		
you use to identify the debtor? 7. How much is the claim? 8. What is the basis of the claim? 9. Is all or part of the claim secured? 9. Is all or part of the claim Motor vehicle 1. Cher. Describe: 1. Basis for perfection: Attach redacted copies of documents, if any, that show evidence of perfection of a security interest (for example, a mortgage, lem, certificate of title, financing statement, or other document that shows the lien has been filled or recorded.) Yalue of property: 2. Amount of the claim that is sunsecured: 3. Secured of the debtor's account or any number you use to identify the debtor. 9. Is all or part of the claim secured by a lien on property. Nature of property: 3. Secured by the debtor's principal residence, file a Mortgage Proof of Claim. 4. Motor vehicle 5. Cher. Describe: 8. Secured by the debtor's principal residence, file a Mortgage Proof of Claim Attachment (Official Form 410-A) with this Proof of Claim. 4. What is the basis of the claim secured by a lien on property. 8. Secured by the debtor's principal residence, file a Mortgage Proof of Claim. 1. Altachment (Official Form 410-A) with this Proof of Claim. 2. Altach redacted copies of documents, if any, that show evidence of perfection of a security interest (for example, a mortgage, lem, certificate of title, financing statement, or other document that shows the lien has been filed or recorded.) 4. Amount of the claim that is secured: 8. The sum of the secured and unsecured amount should match the amount in line 7.) 4. Amount necessary to cure any default as of the date of the petition: 8. Amount necessary to cure any default as of the date of the petition: 9. Amount necessary to cure any default as of the date of the petition: 9. Amount necessary to cure any default as of the date of the petition: 9. Amount necessary to cure any default as of the date of the petition:			Fixed
you use to identify the debtor? Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor:			
you use to identify the debtor? 7. How much is the claim? 8. What is the basis of the claim? 8. What is the basis of the claim? 9. Is all or part of the claim secured? 9. Is all or part of the claim with the claim secured? 1. Real estate: If the claim is secured by a lien on property. 1. No hattre of property: 1. Real estate: If the claim is secured by the debtor's principal residence, file a Mortgage Proof of Claim. 2. Attach redacted copies of documents, if any, that show evidence of perfection of a security interest (for example, a mortgage, lien, certificate of title, financing statement, or other document that shows the lien has been filed or recorded.) 4. Value of property: 4. Amount of the claim that is secured: 5. (The sum of the secured and unsecured).			
you use to identify the debtor? 7. How much is the claim? 8. What is the basis of the claim? 9. Is all or part of the claim secured? 9. Is all or part of the claim secured? 1. Real estate: If the claim is secured by a lien on property. 1. Real estate: If the claim is secured by the debtor's principal residence, file a Mortgage Proof of Claim Attachment (Official Form 410-A) with this Proof of Claim. 2. Attach redacted copies of documents, if any, that show evidence of perfection of a security interest (for example, a mortgage, lien, certificate of title, financing statement, or other document that shows the lien has been filed or recorded.) Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor: 1. Yes. Attach statement itemizing interest or other charges? Yes. Attach statement itemizing interest or other charges? Yes. Attach statement itemizing interest, fees, expenses, or other charges required by Bankruptor, Rule 3001(c)(2)(A). Attach redacted copies of any documents supporting the claim required by Bankruptor, Rule 3001(c)(2)(A). Nature of property: 1. Real estate: If the claim is secured by the debtor's principal residence, file a Mortgage Proof of Claim. Motor vehicle 1. Other. Describe: 1. Basis for perfection: Attach redacted copies of documents, if any, that show evidence of perfection of a security interest (for example, a mortgage, lien, certificate of title, financing statement, or other document that shows the lien has been filed or recorded.)			
you use to identify the debtor? 7. How much is the claim? 8. What is the basis of the claim? Examples: Goods sold, money loaned, lease, services performed, personal injury or wrongful death, or credit card. Attach redacted copies of any documents supporting the claim required by Bankruptcy Rule 3001(c). Limit disclosing information that is entitled to privacy, such as health care information. 9. Is all or part of the claim secured? No Yes. Attach redacted topies of any documents supporting the claim required by Bankruptcy Rule 3001(c). Limit disclosing information that is entitled to privacy, such as health care information. Nature of property: Real estate: If the claim is secured by the debtor's principal residence, file a Mortgage Proof of Claim Attachment (Official Form 410-A) with this Proof of Claim. Motor vehicle Other. Describe: Basis for perfection: Attach redacted copies of documents, if any, that show evidence of perfection of a security interest (for example, a mortgage, lien, certificate of title, financing statement, or other document that shows the lien has been filed or recorded.)			Amount of the claim that is secured: \$
you use to identify the debtor? Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor:			Value of property: \$
7. How much is the claim? S 4 1 4 3 3			Attach redacted copies of documents, if any, that show evidence of perfection of a security interest (for example, a mortgage, lien, certificate of title, financing statement, or other document that shows the lien
7. How much is the claim? S			Other. Describe:
you use to identify the debtor? Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor: Does this amount include interest or other charges? Yes. Attach statement itemizing interest, fees, expenses, or other charges required by Bankruptcy Rule 3001(c)(2)(A). Examples: Goods sold, money loaned, lease, services performed, personal injury or wrongful death, or credit card. Attach redacted copies of any documents supporting the claim required by Bankruptcy Rule 3001(c). Limit disclosing information that is entitled to privacy, such as health care information. 9. Is all or part of the claim secured? No Yes. The claim is secured by a lien on property. Nature of property: Real estate: If the claim is secured by the debtor's principal residence, file a Mortgage Proof of Claim Attachment (Official Form 410-A) with this Proof of Claim.			
you use to identify the debtor? 7. How much is the claim? 8. What is the basis of the claim? Examples: Goods sold, money loaned, lease, services performed, personal injury or wrongful death, or credit card. Attach redacted copies of any documents supporting the claim required by Bankruptcy Rule 3001(c). Limit disclosing information that is entitled to privacy, such as health care information. 9. Is all or part of the claim Secured? Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor: 9. Is all or part of the claim Secured by a lien on property. Nature of property:			Claim Attachment (Official Form 410-A) with this Proof of Claim.
you use to identify the debtor? Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor:			
you use to identify the debtor? Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor: Does this amount include interest or other charges? Yes. Attach statement itemizing interest, fees, expenses, or other charges required by Bankruptcy Rule 3001(c)(2)(A). Examples: Goods sold, money loaned, lease, services performed, personal injury or wrongful death, or credit card. Attach redacted copies of any documents supporting the claim required by Bankruptcy Rule 3001(c). Limit disclosing information that is entitled to privacy, such as health care information.	٥.		
you use to identify the debtor? Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor: Does this amount include interest or other charges? Yes. Attach statement itemizing interest, fees, expenses, or other charges required by Bankruptcy Rule 3001(c)(2)(A). What is the basis of the claim? Examples: Goods sold, money loaned, lease, services performed, personal injury or wrongful death, or credit card. Attach redacted copies of any documents supporting the claim required by Bankruptcy Rule 3001(c).	0	le all or part of the claim	M No
you use to identify the debtor? Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor: Does this amount include interest or other charges? Yes. Attach statement itemizing interest, fees, expenses, or other charges required by Bankruptcy Rule 3001(c)(2)(A). What is the basis of the claim? Examples: Goods sold, money loaned, lease, services performed, personal injury or wrongful death, or credit card. Attach redacted copies of any documents supporting the claim required by Bankruptcy Rule 3001(c).			
you use to identify the debtor? Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor: No Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor: No Yes. Attach statement itemizing interest, fees, expenses, or other charges required by Bankruptcy Rule 3001(c)(2)(A). 8. What is the basis of the claim? Examples: Goods sold, money loaned, lease, services performed, personal injury or wrongful death, or credit card.			
you use to identify the debtor? Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor:	8.		
you use to identify the debtor? Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor: 7. How much is the claim? \$\frac{41}{13.31}\$. Does this amount include interest or other charges?			Yes. Attach statement itemizing interest, fees, expenses, or other charges required by Bankruptcy Rule 3001(c)(2)(A).
you use to identify the debtor? Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor:			
you use to identify the	7.	How much is the claim?	\$ 41, 413.31 Does this amount include interest or other charges?
			Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor:
	6.		™ No

entitled to priority under 11 U.S.C. § 507(a)?	Yes. Check all that apply:	Amount entitled to priority
A claim may be partly priority and partly nonpriority. For example,	Domestic support obligations (including alimony and child support) under 11 U.S.C. § 507(a)(1)(A) or (a)(1)(B).	\$
in some categories, the	Up to \$2,850* of deposits toward purchase, lease, or rental of property or	
law limits the amount entitled to priority.	services for personal, family, or household use. 11 U.S.C. § 507(a)(7).	\$
	Wages, salaries, or commissions (up to \$12,850*) earned within 180 days before the bankruptcy potition is filed or the debtor's business ends, whichever is earlier. 11 U.S.C. § 507(a)(4).	3
	Taxes or penalties owed to governmental units. 11 U.S.C. § 507(a)(8).	\$
	Contributions to an employee benefit plan. 11 U.S.C. § 507(a)(5).	\$
	Other. Specify subsection of 11 U.S.C. § 507(a)() that applies.	\$
	* Amounts are subject to adjustment on 4/01/19 and every 3 years after that for cases begun	on or after the date of adjustment.
13. Is all or part of the claim entitled to administrative	No	
priority pursuant to 11 U.S.C. § 503(b)(9)?	Yes. Indicate the amount of your claim arising from the value of any goods received by the Debtor within 20 days before the Petition Date of the above case, in which the goods have been sold to the Debtor in the ordinary course of such Debtor's business. Attach documentation supporting such claim.	\$
Part 3: Sign Below		
The person completing this proof of claim must	Check the appropriate box:	
sign and date it FRBP 9011(b).	I am the creditor.	
If you file this claim	I am the creditor's attorney or authorized agent.	
electronically, FRBP 5005(a)(2) authorizes courts	I am the trustee, or the debtor, or their authorized agent. Bankruptcy Rule 3004.	
to establish local rules specifying what a signature is.	I am a guarantor, surety, endorser, or other codebtor. Bankruptcy Rule 3005.	
A person who files a fraudulent claim could be fined up to \$500,000,	I understand that an authorized signature on this <i>Proof of Claim</i> serves as an acknowledge the amount of the claim, the creditor gave the debtor credit for any payments received towards.	ement that when calculating ard the debt.
imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and	I have examined the information in this <i>Proof of Claim</i> and have reasonable belief that the	information is true and correct.
3571.	I declare under penalty of perjury that the foregoing is true and correct.	
	Executed on date OS 16 2019	
	Signature	
Official Form 410	Proof of Claim page 3	

Name	Emir Nurmansy.	ah
Title	First name Last name / Partner	
Company	ABNR Counsellbrs at Law identify the corporate servicer as the company if the authorized agent is a servicer.	
Address	Graha C+mB Miaga- 24 th Floo Jalon Jend Sudirman Kau 38 Number Street	R)
	aharta Selatan - DKT JKt - 121 City State ZIP Code Country	90 Forder
Contact phone	+62212505125 Email ChuRmansy	a h(a)

abnklaw.com

Official Form 410

Instructions for Proof of Claim

United States Bankruptcy Court

04/16

These instructions and definitions generally explain the law. In certain circumstances, such as bankruptcy cases that debtors do not file voluntarily, exceptions to these general rules may apply. You should consider obtaining the advice of an attorney, especially if you are unfamiliar with the bankruptcy process and privacy regulations.

A person who files a fraudulent claim could be fined up to \$500,000, Imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157 and 3571

How to fill out this form

- Fill in all of the information about the claim as of the date the case was filed (November 25, 2018).
- Fill in the caption at the top of the form
- If the claim has been acquired from someone else, then state the identity of the last party who owned the claim or was the holder of the claim and who transferred it to you before the initial claim was filed.
- Attach any supporting documents to this form.

 Attach redacted copies of any documents that show that the debt exists, a lien secures the debt, or both. (See the definition of *redaction* on the next page.)

Also attach redacted copies of any documents that show perfection of any security interest or any assignments or transfers of the debt. In addition to the documents, a summary may be added. Federal Rule of Bankruptcy Procedure (called "Bankruptcy Rule") 3001(c) and (d).

- Do not attach original documents because attachments may be destroyed after scanning.
- If the claim is based on delivery health care goods or services, do not disclose confidential health care information. Leave out or redact confidential information both in the claim and in the attached documents.

- A Proof of Claim form and any attached documents must show only the last 4 digits of any social security number, individual's tax identification number, or financial account number, and only the year of any person's date of birth. See Bankruptcy Rule 9037.
- For a minor child, fill in only the child's initials and the full name and address of the child's parent or guardian. For example, write A.B., a minor child (John Doe, parent, 123 Main St., City, State). See Bankruptcy Rule 9037.

Confirmation that the claim has been filed

To receive confirmation that the claim has been filed, either enclose a stamped self-addressed envelope and a copy of this form or you may view a list of filed claims in this case by visiting the Claims and Noticing and Agent's website at http://www.kccllc.net/waypointleasing.

Understand the terms used in this form

Administrative expense: Generally, an expense that arises after a bankruptcy case is filed in connection with operating, liquidating, or distributing that bankruptcy estate.

11 U.S.C. § 503.

Claim: A creditor's right to receive payment for a debt that the debtor owed on the date the debtor filed for bankruptcy. 11 U.S.C. § 101 (5). A claim may be secured or unsecured.

Claim Pursuant to 11 U.S.C. § 503(b)(9): A claim arising from the value of any goods received by the Debtor within 20 days before the date of commencement of the above case, in which the goods have been sold to the Debtor in the ordinary course of the Debtor's business. Attach documentation supporting such claim.

Creditor: A person, corporation, or other entity to whom a debtor owes a debt that was incurred on or before the date the debtor filed for bankruptcy. 11 U.S.C. §101 (10).

Debtor: A person, corporation, or other entity who is in bankruptcy. Use the debtor's name and case number as shown in the bankruptcy notice you received. 11 U.S.C. §101 (13).

Evidence of perfection: Evidence of perfection of a security interest may include documents showing that a security interest has been filed or recorded, such as a mortgage, lien, certificate of title, or financing statement.

Information that is entitled to privacy: A *Proof of Claim* form and any attached documents must show only the last 4 digits of any social security number, an individual's tax identification number, or a financial account number, only the initials of a minor's name, and only the year of any person's date of birth. If a claim is based on delivering health care goods or services, limit the disclosure of the goods or services to avoid embarrassment or disclosure of confidential health care information. You may later be required to give more information if the trustee or someone else in interest objects to the claim.

Priority claim: A claim within a category of unsecured claims that is entitled to priority under 11 U.S.C. §507(a). These claims are paid from the available money or property in a bankruptcy case before other unsecured claims are paid. Common priority unsecured claims include alimony, child support, taxes, and certain unpaid wages.

Proof of claim: A form that shows the amount of debt the debtor owed to a creditor on the date of the bankruptcy filing. The form must be filed in the district where the case is pending.

Redaction of information: Masking, editing out, or deleting certain information to protect privacy. Filers must redact or leave out information entitled to privacy on the *Proof of Claim* form and any attached documents.

Secured claim under 11 U.S.C. § 506(a): A claim backed by a lien on particular property of the debtor. A claim is secured to the extent that a creditor has the right to be paid from the property before other creditors are paid. The amount of a secured claim usually cannot be more than the value of the particular property on which the creditor has a lien. Any amount owed to a creditor that is more than the value of the property normally may be an unsecured claim. But exceptions exist; for example, see 11 U.S.C. § 1322(b) and the final sentence of 11 U.S.C. § 1325(a).

Examples of liens on property include a mortgage on real estate or a security interest in a car. A lien may be voluntarily granted by a debtor or may be obtained through a court proceeding. In states, a court judgment may be a lien.

Setoff: Occurs when a creditor pays itself with money belonging to the debtor that it is holding, or by canceling a debt it owes to the debtor.

Uniform claim identifier: An optional 24-character identifier that some creditors use to facilitate electronic payment.

Unsecured claim: A claim that does not meet the requirements of a secured claim. A claim may be unsecured in part to the extent that the amount of the claim is more than the value of the property on which a creditor has a lien.

Offers to purchase a claim

Certain entities purchase claims for an amount that is less than the face value of the claims. These entities may contact creditors offering to purchase their claims. Some written communications from these entities may easily be confused with official court documentation or communications from the debtor. These entities do not represent the bankruptcy court, the bankruptcy trustee, or the debtor. A creditor has no obligation to sell its claim. However, if a creditor decides to sell its claim, any transfer of that claim is subject to Bankruptcy Rule 3001(e), any provisions of the Bankruptcy Code (11 U.S.C. § 101 et seq.) that apply, and any orders of the bankruptcy court that apply.

PLEASE SEND COMPLETED PROOF(S) OF CLAIM TO:

Waypoint Claims Processing Center c/o KCC 2335 Alaska Avenue El Segundo, CA 90245

Alternatively, your claim can be filed electronically on KCC's website at http://www.kccllc.net/waypointleasing/.

Do not file these instructions with your form.

Gustaaf Reerink

From:

Zohar Zik <Zohar.Zik@hfw.com>

Sent:

09 January 2017 20:38

To:

Oene J. Marseille

Cc:

'Gustaaf Reerink'; 'Putra Ariyavira'; Emir Nurmansyah; 'Kevin Omar Sidharta'; Holly Foster;

Sammy Beedan

Subject:

RE: Potential instrcuations to assist with a leasing transaction [HFWLDN-

HFWLDN.FID20650551

Attachments:

image001.jpg; image002.png; image003.png; image004.jpg; image005.jpg

Dear Oene

I am pleased to confirm that Waypoint are happy with your proposal.

Please make arrangements to engage them as a client – I should have the draft lease available for you later today.

I look forward to working with you.

Kind regards Zohar Zik Partner

Holman Fenwick Willan LLP Direct: +44 (0)20 7264 8251 Mobile: +44 (0)7976 361221

zohar.zik@hfw.com

From: Oene J. Marseille [mailto:omarseille@abnrlaw.com]

Sent: 09 January 2017 13:01

To: Zohar Zik

Cc: 'Gustaaf Reerink'; 'Putra Ariyavira'; Emir Nurmansyah; 'Kevin Omar Sidharta'

Subject: RE: Potential instrcuations to assist with a leasing transaction [HFWLDN-HFWLDN.FID2065055]

Dear Zohar,

We would be happy to assist:

- (i) reviewing the draft of the Lease Agreement from an Indonesian law perspective,
- (ii) preparing an enforceability opinion in respect of the enforcement of the transaction documents in Indonesia, and
- (iii) providing assistance with the CP's including closing mechanics and assisting on any required local filings.

Our estimated fees for legal services within this scope of work would be USD 9,500 excluding 5% out-of-pocket expenses, disbursements (e.g.: notary fee, translation fee) and 10% VAT. We hope that these estimated fees are acceptable.

In connection with the CPs to be fulfilled, we believe it is of utmost importance that Air Born Indonesia provides Waypoint Leasing with a duly drafted and executed Irrevocable Deregistration and Export Request Authorization ("IDERA") to be registered with the Directorate General of Civil Aviation of the Indonesian Ministry of Transportation ("DGCA"). The IDERA can be considered as the only instrument approved by the DGCA that is protecting the owner's/lessor's interests towards the leased aircraft.

However, please note that currently all new IDERA submissions are on hold pending the issuance of a new regulation which will specifically address additional provisions on IDERA. We believe that the new regulation will be more detailed and conclusive than the current regulation. The new regulation will likely introduce a new procedure, with a new IDERA form to be submitted and new requirements to be fulfilled. We are checking with the DGCA on a regular basis to try and obtain updates on this new regulation, but so far there is no new information we can share.

We hope this is useful. Please let us know if you have any further questions.

Best wishes,

Oene

Oene Marseille



Ali Budiardjo, Nugroho, Reksodiputro

Graha CIMB Naga 24th Floor Jl. Jenderal Sudirman Kav. 58 Jakarta 12190 Indonesia Ph. •62 21 250 5125/5136 Fx. •62 21 250 5001/5121/5122/5 info@abn/law.com_www.abn/law.c

This e-mail transmission is intended only for the use of the individual or entity named above and may contain information that is confidential, privileged, and/or exempt from disclosure under applicable law. If you are not the intended recipient, you are hereby notified that any review, disclosure, copying, distribution, or other use of any of the information contained in this transmission is strictly prohibited. If you have received this transmission in error, please immediately notify the sender by e-mail at the above address and delete it from your computer system; you should not copy the message or disclose its contents to anyone. The content of the message and/or attachments may not reflect the view and opinions of the originating company or any party it is representing.

From: Zohar Zik [mailto:Zohar.Zik@hfw.com]
Sent: Monday, January 09, 2017 15:36

To: 'Oene J. Marseille'

Cc: 'Gustaaf Reerink'; 'Putra Ariyavira'; 'Kevin Omar Sidharta'

Subject: RE: Potential instrcuations to assist with a leasing transaction [HFWLDN-HFWLDN.FID2065055]

Thanks Oene

I look forward to hearing from you soonest.

Kind regards
Zohar Zik
Partner
Holman Fenwick Willan LLP
Direct: +44 (0)20 7264 8251
Mobile: +44 (0)7976 361221
zohar.zik@hfw.com

----Original Message-----

From: Oene J. Marseille [omarseille@abnrlaw.com]

Sent: Friday, January 06, 2017 09:39 AM GMT Standard Time

To: Zohar Zik

Cc: 'Gustaaf Reerink'; 'Putra Ariyavira'; 'Kevin Omar Sidharta'

Subject: RE: Potential instrcuations to assist with a leasing transaction [HFWLDN-HFWLDN.FID2065055]

Dear Zohar,

Many thanks - will have a look and revert. Look forward working together.

Best wishes.

Oene

Oene Marseille



Ali Budiardio, Nugroho, Reksodiputro

Graha CIMB Niaga 24th Floor Jl. Jenderal Sudirman Kav. 58 Jakarta 12190 Indonesia Ph. •62 21 250 5125/5136 Fx. •62 21 250 5001/5121/5122/5 info@abnrlaw.com_www.abnrlaw.c

This e-mail transmission is intended only for the use of the individual or entity named above and may contain information that is confidential, privileged, and/or exempt from disclosure under applicable law. If you are not the intended recipient, you are hereby notified that any review, disclosure, copying, distribution, or other use of any of the information contained in this transmission is strictly prohibited. If you have received this transmission in error, please immediately notify the sender by e-mail at the above address and delete it from your computer system; you should not copy the message or disclose its contents to anyone. The content of the message and/or attachments may not reflect the view and opinions of the originating company or any party it is representing.

From: Zohar Zik [mailto:Zohar.Zik@hfw.com]

Sent: Friday, January 06, 2017 15:45

To: omarseille@abnrlaw.com

Cc: nharisman@abnrlaw.com; ytan@abnrlaw.com

Subject: Potential instrcuations to assist with a leasing transaction [HFWLDN-HFWLDN.FID2065055]

Dear Mr Marseille

I am advising Waypoint Leasing in connection with the proposed lease of one AW139 helicopter to an Indonesian operator called Air Born Indonesia. The deal needs to close by the end of January.

Waypoint have worked with you before and have asked me to write to you in connection with this and to see if you could assist us with the following:

- 1. General review of the Lease Agreement (which we will draft) from a local law perspective;
- 2. enforceability opinion (in respect of the enforcement of the transaction documents in Indonesia);
- 3. assistance with CPs, closing mechanics and any local law filings that are required

Please can you let me know if you are able to accept instructions to act for Waypoint Leasing on this matter and if so please can you also let me have a fee estimate covering all three aspects of the advice needed?

I look forward to hearing from you and hopefully working with you soon.

Thanks,

Kind regards
Zohar Zik
Partner
Holman Fenwick Willan LLP
Direct: +44 (0)20 7264 8251
Mobile: +44 (0)7976 361221
zohar.zik@hfw.com

× Marine 2-34 State Conference Co	
× ************************************	
Holman Fenwick Willan LLP, Friary Court, 65 Crutched Friars, London EC3N 2AE T: +44 (0)20	7264 8000 F: +44 (0)20 7264 8888

Holman Fenwick Willan LLP is a limited liability partnership registered in England and Wales (with registered number OC343361) and is authorised and regulated by the UK Solicitors Regulation Authority, with registered number 509977. A list of members' names is open to inspection at the registered office, Friary Court, 65 Crutched Friars, London EC3N 2AE.

This e-mail (including all attachments) is intended for the named addressee. It is confidential and may be privileged. If you have received it in error, please contact us immediately and then delete it. You should not disclose its contents to any other person.

This message has been scanned for viruses by BlackSpider MailControl.

São Paulo Paris Brussels Geneva Piraeus Beirut Rivadh Kuwait Dubai Houston London Shanghai Perth Melbourne Sydney Singapore Hong Kong Please consider your environmental responsibility before printing this email.

Click here to report this email as spam.

Gustaaf Reerink

From:

Zohar Zik <Zohar.Zik@hfw.com>

Sent:

24 November 2017 17:06

To:

'Oene J. Marseille'

Cc:

'Gustaaf Reerink': 'Novita Harisman': 'Tan Yuliana'

Subject:

RE: Potential instrcuations to assist with a leasing transaction [HFWLDN-

HFWLDN.FID2065055]

Dear Oene

Thanks for your email. I will check with the client and will revert.

Kind regards Zohar Zik Partner HFW

D +44 (0)20 7264 8251 | M +44 (0)7976 361221

E zohar.zik@hfw.com

HFW, Friary Court, 65 Crutched Friars, London EC3N 2AE, United Kingdom T +44 (0)20 7264 8000 | F +44 (0)20 7264 8888 | hfw.com

-----Original Message-----

From: Oene J. Marseille [omarseille@abnrlaw.com]

Sent: Friday, November 24, 2017 08:34 AM GMT Standard Time

To: Zohar Zik

Cc: 'Gustaaf Reerink'; 'Novita Harisman'; 'Tan Yuliana'

Subject: Potential instrcuations to assist with a leasing transaction [HFWLDN-HFWLDN.FID2065055]

Hi Zohar,

Hope all well with you. With year-end approaching we would like to send you our invoice for legal services in connection with the lease of a helicopter by Waypoint Leasing to Air Born (MSN 31414). Attached is the draft overview of hours.

Based on emails below we agreed to an estimated fee for legal services in the amount of USD 9,500. However the actual work performed is mostly out of scope and as you will note, our fees are signficantly higher than quoted.

How should we proceed with this, perhaps already invoice USD 9,500 and discuss later how much we can charge for the additional work once the file can be closed? Or better we settle now for 2017 fees? In the latter case, please let us know what you believe would be a fair amount to charge.

Many thanks in advance.

Best wishes.

Oene

Oene Marseille



COUNSELLORS AT LAW



Ali Budiardjo, Nugroho, Reksodiputro

Graha CIMB Niaga, 24th Floor Jl. Jenderal Sudirman Kav. 58 Jakarta 12190 Indonesia Ph. +62 21 250 5125/5136 Fx. +62 21 250 5001/5121/5122/5392 info@abntlaw.com www.abntlaw.com Chevron House # 30 Raffles Place : Ph. +65 680 962

This e-mail transmission is intended only for the use of the individual or entity named above and may contain information that is confidential, privileged, and/or exempt from disclosure under applicable law. If you are not the intended recipient, you are hereby notified that any review, disclosure, copying, distribution, or other use of any of the information contained in this transmission is strictly prohibited. If you have received this transmission in error, please immediately notify the sender by e-mail at the above address and delete it from your computer system; you should not copy the message or disclose its contents to anyone. The content of the message and/or attachments may not reflect the view and opinions of the originating company or any party it is representing.

From: Oene J. Marseille [mailto:omarseille@abnrlaw.com]

Sent: Monday, January 09, 2017 8:01 PM

To: 'Zohar Zik'

Cc: 'Gustaaf Reerink'; 'Putra Ariyavira'; Emir Nurmansyah; 'Kevin Omar Sidharta'

Subject: RE: Potential instrcuations to assist with a leasing transaction [HFWLDN-HFWLDN.FID2065055]

Dear Zohar.

We would be happy to assist:

- (i) reviewing the draft of the Lease Agreement from an Indonesian law perspective,
- (II) preparing an enforceability opinion in respect of the enforcement of the transaction documents in Indonesia, and
- (iii) providing assistance with the CP's including closing mechanics and assisting on any required local filings.

Our estimated fees for legal services within this scope of work would be USD 9,500 excluding 5% out-of-pocket expenses, disbursements (e.g.: notary fee, translation fee) and 10% VAT. We hope that these estimated fees are acceptable.

In connection with the CPs to be fulfilled, we believe it is of utmost importance that Air Born Indonesia provides Waypoint Leasing with a duly drafted and executed Irrevocable Deregistration and Export Request Authorization ("IDERA") to be registered with the Directorate General of Civil Aviation of the Indonesian Ministry of Transportation ("DGCA"). The IDERA can be considered as the only instrument approved by the DGCA that is protecting the owner's/lessor's interests towards the leased aircraft.

However, please note that currently <u>all new IDERA submissions are on hold</u> pending the issuance of a new regulation which will specifically address additional provisions on IDERA. We believe that the new regulation will be more detailed and conclusive than the current regulation. The new regulation will likely introduce a new procedure, with a new IDERA form to be submitted and new requirements to be fulfilled. We are checking with the DGCA on a regular basis to try and obtain updates on this new regulation, but so far there is no new information we can share.

We hope this is useful. Please let us know if you have any further questions.

Best wishes,

Oene

Oene Marseille



COUNSELLORS AT LAW

Ali Budiardio, Nugroho, Reksodiputro

Graha CIMB Naga 24th Floor Ji. Jenderal Sudirman Kav. 58 Jakarta 12190 Indonesia Ph. •62 21 250 5125/5136 Fx. •62 21 250 5001/5121/5122/5 info@abnrlaw.com www.abarlaw.c

This e-mail transmission is intended only for the use of the individual or entity named above and may contain information that is confidential, privileged, and/or exempt from disclosure under applicable law. If you are not the intended recipient, you are hereby notified that any review, disclosure, copying, distribution, or other use of any of the information contained in this transmission is strictly prohibited. If you have received this transmission in error, please immediately notify the sender by e-mail at the above address and delete it from your computer system; you should not copy the message or disclose its contents to anyone. The content of the message and/or attachments may not reflect the view and opinions of the originating company or any party it is representing.

From: Zohar Zik [mailto:Zohar.Zik@hfw.com]
Sent: Monday, January 09, 2017 15:36

To: 'Oene J. Marseille'

Cc: 'Gustaaf Reerink'; 'Putra Ariyavira'; 'Kevin Omar Sidharta'

Subject: RE: Potential instrcuations to assist with a leasing transaction [HFWLDN-HFWLDN.FID2065055]

Thanks Oene

I look forward to hearing from you soonest.

Kind regards
Zohar Zik
Partner
Holman Fenwick Willan LLP

Direct: +44 (0)20 7264 8251 Mobile: +44 (0)7976 361221

zohar.zik@hfw.com

----Original Message----

From: Oene J. Marseille [omarseille@abnrlaw.com]

Sent: Friday, January 06, 2017 09:39 AM GMT Standard Time

To: Zohar Zik

Cc: 'Gustaaf Reerink'; 'Putra Ariyavira'; 'Kevin Omar Sidharta'

Subject: RE: Potential instrcuations to assist with a leasing transaction [HFWLDN-HFWLDN.FID2065055]

Dear Zohar,

Many thanks - will have a look and revert. Look forward working together.

Best wishes,

Oene

Oene Marseille



COUNSELLORS AT LAW

Ali Budiardjo, Nugroho, Reksodiputro

Graha CIMB Niaga 24th Floor Jl. Jenderal Sudirman Kav. 58 Jakarta 12190 Indonesia Ph. +62 21 250 5125/5136 Fx. +62 21 250 5001/5121/5122/5 info@abrilaw.com www.abrilaw.c

This e-mail transmission is intended only for the use of the individual or entity named above and may contain information that is confidential, privileged, and/or exempt from disclosure under applicable law. If you are not the intended recipient, you are hereby notified that any review, disclosure, copying, distribution, or other use of any of the information contained in this transmission is strictly prohibited. If you have received this transmission in error, please immediately notify the sender by e-mail at the above address and delete it from your computer system; you should not copy the message or disclose its contents to anyone. The content of the message and/or attachments may not reflect the view and opinions of the originating company or any party it is representing.

From: Zohar Zik [mailto:Zohar.Zik@hfw.com]

Sent: Friday, January 06, 2017 15:45

To: omarseille@abnrlaw.com

Cc: nharisman@abnrlaw.com; ytan@abnrlaw.com; ytan@abnrlaw.com;

Subject: Potential instrcuations to assist with a leasing transaction [HFWLDN-HFWLDN,FID2065055]

Dear Mr Marseille

I am advising Waypoint Leasing in connection with the proposed lease of one AW139 helicopter to an Indonesian operator called Air Born Indonesia. The deal needs to close by the end of January.

Waypoint have worked with you before and have asked me to write to you in connection with this and to see if you could assist us with the following:

- 1. General review of the Lease Agreement (which we will draft) from a local law perspective;
- 2. enforceability opinion (in respect of the enforcement of the transaction documents in Indonesia); and
- 3. assistance with CPs, closing mechanics and any local law filings that are required

Please can you let me know if you are able to accept instructions to act for Waypoint Leasing on this matter and if so please can you also let me have a fee estimate covering all three aspects of the advice needed?

I look forward to hearing from you and hopefully working with you soon.

Thanks.

Kind regards
Zohar Zik
Partner
Holman Fenwick Willan LLP
Direct: +44 (0)20 7264 8251
Mobile: +44 (0)7976 361221

zohar.zik@hfw.com



British Legal Awards 2016

圖於語》 Finalist for Litigation and Dispute Resolution Team of the Year



Lawyers for international commerce hfw.com

Holman Fenwick Willan LLP, Friary Court, 65 Crutched Friars, London EC3N 2AE T: +44 (0)20 7264 8000 F: +44 (0)20 7264 8888

Holman Fenwick Willan LLP is a limited liability partnership registered in England and Wales (with registered number OC343361) and is authorised and regulated by the UK Solicitors Regulation Authority, with registered number 509977. A list of members' names is open to inspection at the registered office, Friary Court, 65 Crutched Friars, London EC3N 2AE.

This e-mail (including all attachments) is intended for the named addressee. It is confidential and may be privileged. If you have received it in error, please contact us immediately and then delete it. You should not disclose its contents to any other person.

This message has been scanned for viruses by BlackSpider MailControl.

Houston São Paulo London Paris Brussels Geneva Piraeus Beirut Riyadh Kuwait Dubai Singapore Hong Kong Shanghai Perth Melbourne Sydney



Please consider your environmental responsibility before printing this email.

Click here to report this email as spam.

INVOICE

No: DRAFT/HFW-17092/EN(OJM)-GOR Jakarta, 28 May 2019

INVOICE TO:

Waypoint Asset Company Number 1 (Ireland) Limited

8 Riverpoint, Bishops Quay Limerick V94 WC6A, Ireland

Attn legal@waypointleasing.com

We submit our bill to you for the following:

Description	Amount	
Statement of fees and disbursement for professional service rendered in the period 11 January 2017 to 01 November 2017 in relation to Leasing Transaction - AW139 Helicopter - Air Born Indonesia		
Legal fees	US\$9,500.00	
Disbursement and Out of Pocket Expenses:		
 Translation Fees Ticket and hotel accommodation for meeting in KL Out of Pocket Expenses 5% 	US\$104.96 US\$389.77 US\$475.00	+
Sub-total	US\$10,469.73	
10% VAT	US\$1,046.97	
TOTAL	US\$11,516.70	+
	==========	

Page 1 of 1

Payment is due upon receipt of this invoice

1.Please refer our invoice number in making your payment 2.Please make payment by transfer to:

Account name : Ali Budiardjo, Nugroho, Reksodiputro

Account number : 8000-3102-2540 (USD)
Bank : CIMB Niaga, Jakarta, In : CIMB Niaga, Jakarta, Indonesia

Swift code : BNIAIDJA Tan Yuliana Billing & Tax Officer

PROFESSIONAL SERVICES RENDERED BY CASE

Period From: 11 January 2017 up to 01 November 2017 in relation to Leasing Transaction - AW139 Helicopter - Air Born Indonesia

MATTER CODE: HFW-17092A

MATTER CODE: HFW-17092A							
Date	Author	Description	Units*	Rate	Amount		
11 Jan 2017	PA	Reviewing draft aircraft lease agreement	2.50	275.00	687.50		
12 Jan 2017	GOR	Prepare markup lease agreement.	3.42	425.00	1,453.50		
13 Jan 2017	GOR	Finalise markup lease agreement.	0.70	425.00	297.50		
13 Jan 2017	PA	Discussing Internal discussions regarding the draft aircraft lease agreement	1.50	275.00	412.50		
17 Jan 2017	GOR	Review email re follow up question relating to markup lease agreement.	0.10	425.00	42.50		
18 Jan 2017	GOR	Draft email to Mr Zik; revise markup lease agreement.	0.80	425.00	340.00		
19 Jan 2017	GOR	Finalise draft email to Mr Zik, revised markup of lease agreement.	0.57	425.00	242.25		
20 Jan 2017	GOR	Draft email to Mr Zik; amend Lease; draft email to Ms Foster; amend checklist.	0.70	425.00	297.50		
20 Jan 2017	PA	Reviewing and finalizing draft responses for the client	0.93	275.00	254.51		
03 Feb 2017	PA	Preparing 1st draft LO for the transaction	2.50	275.00	687.50		
13 Feb 2017	GOR	Meeting with Airod for discussion helicopter lease agreement (in KL)	8.00	425.00	3,399.99		
16 Feb 2017	GOR	Emails to Mr Knott, Mr Sharma re finalisation lease agreement, side letter.	0.20	425.00	85.00		
16 Feb 2017	PA	Reviewing draft aircraft lease agreement & side letter, internal discussions	2.00	275.00	550.00		
17 Feb 2017	PA	Reviewing draft aircraft lease agreement & side letter, internal discussions	2.00	275.00	550.00		
01 Mar 2017	GOR	Emails to Mr Knott, Mr Zik; call with Mr Robson; prepare docs in fulfilment of CPs	0.47	425.00	199.75		
		TOTAL UNITS FOR HFW-170 TOTAL FEES FOR HFW-170		He	26.39 \$9,500.00		
		IOTAL FEES FOR HEW-1/0	JZA	03	φ9,300.00		

^{*1} Units = 60 Minutes

INVOICE

No: DRAFT/HFW-17092A/EN(OJM)-GOR Jakarta, 28 May 2019

INVOICE TO:

Waypoint Asset Company Number 1 (Ireland) Limited

8 Riverpoint, Bishops Quay Limerick V94 WC6A, Ireland

Attn legal@waypointleasing.com

We submit our bill to you for the following:

Description	Amount
Statement of fees and disbursement for professional service rendered in the period 07 January 2017 to 1 November 2017 in relation to Leasing Transaction - AW139 Helicopter - Air Born Indonesia.	
Legal fees	US\$25,884.50
Disbursement and Out of Pocket Expenses:	
Out of Pocket Expenses 5%	US\$ 1,294.23
Sub-total	US\$27,178.73
10% VAT	US\$ 2,717.87
TOTAL	US\$29,896.60
	=======================================

Page 1 of 1

Payment is due upon receipt of this invoice

1.Please refer our invoice number in making your payment 2.Please make payment by transfer to:

Account name : Ali Budiardjo, Nugroho, Reksodiputro

Account number : 8000-3102-2540 (USD)
Bank : CIMB Niaga, Jakarta, Indonesia

Swift code : BNIAIDJA Tan Yuliana Billing & Tax Officer

PROFESSIONAL SERVICES RENDERED BY CASE

Period From: 07 January 2017 up to 14 November 2017 in relation to Leasing Transaction - AW139 Helicopter - Air Born Indonesia

MATTER CODE: HFW-17092

MATTER CODE: HFW-17092							
Date	Author	Description	Units*	Rate	Amount		
07-Jan-17	PA	Preparing fee quote and initial advice for Waypoint Leasing on leasing with Air Born	1.50	275.00	412.50		
09-Jan-17	PA	Reviewing fee quote, internal discussions	1.00	275.00	275.00		
09-Jan-17	OJM	Queries from client.	3.00	475.00	1,425.00		
16-Jan-17	PA	Preparing Regulatory research and preparing draft responses to the client's queries	3.00	275.00	825.00		
16-Jan-17	PA	Preparing marked up closing checklist for the client	1.50	275.00	412.50		
19-Jan-17	PA	Reviewing and finalizing draft response for the client	1.50	275.00	412.50		
20-Jan-17	PA	Reviewing and finalizing draft responses for the client	0.58	275.00	158.00		
03-Feb-17	GOR	Coordinate meeting in KL.	0.20	425.00	85.00		
10-Feb-17	GOR	Prepare trip to KL.	0.50	425.00	212.50		
02-Mar-17	GOR	Emails to Guy re docs for CP; coordinate drafting and review docs (IDERA, DPOA, letter of authorisation); coordinate drafting legal opinion.	1.40	425.00	595.00		
02-Mar-17	PA	Preparing drafts of IDERA, DPOA and Letters of Authority in connection with the transaction	2.50	275.00	687.50		
02-Mar-17	PA	Discussing Internal discussions on MoT 45/2015	1.50	275.00	412.50		
		Email to Mr Zik; email to Pak Ruel re corporate					
03-Mar-17	GOR	docs and approvals.	0.20	425.00	85.00		
03-Mar-17	OJM	Queries from client.	2.00	475.00	950.00		
04-Mar-17	GOR	Prepare advice re capital increase requirement; email to Guy.	0.50	425.00	212.50		
04-Mar-17	PA	Discussing Internal discussions on MoT 45/2015	2.00	275.00	550.00		
06-Mar-17	PA	Research By phone research with the DGCA in connection with MoT 45/2015	1.00	275.00	275.00		
06-Mar-17	GOR	Review LO; coordinate check with MOT; emails to Guy re capital increase requirement, LO, delivery C of R, CPs and CS. email to Chris re contact Ruel; emails to and phone call with Ruel.	2.00	425.00	850.00		
06-Mar-17	PA	Research By phone research with the DGCA in connection with MoT 45/2015	1.00	275.00	275.00		
06-Mar-17	PA	Liaising Liaisons with the client regarding MoT 45/2015, reviewing draft e-mail for the client	1.50	275.00	412.50		
06-Mar-17	PA	Revising draft of legal opinion for the client	1.50	275.00	412.50		
08-Mar-17	GOR	Review waiver letter; emails to Guy; email to Ruel.	0.40	425.00	170.00		
08-Mar-17	PA	Reviewing draft waiver letter	0.50	275.00	137.50		
09-Mar-17	GOR	Emails to Ruel; email to Zohar, Chris re CS capitalization requirement; review revised LO.	0.30	425.00	127.50		
09-Mar-17	PA	Discussing Internal discussions on aviation matter CP requirements	1.00	275.00	275.00		
10-Mar-17	PA	Reviewing and revising draft legal opinion	2.00	275.00	550.00		
17-Mar-17	GOR	Email to Guy; phone call and email to Pak Ruel re outstanding CPs.	0.20	425.00	85.00		
17-Mar-17	PA	Reviewing draft response for the client	1.50	275.00	412.50		
20-Mar-17	GOR	Phone call to Ruel; email to Mr Zik, Mr Knott. Liaising Liaisons with external translator regarding	0.20	425.00	85.00		
31-Mar-17	PA	preparation of Indonesian translation, internal discussions	1.50	275.00	412.50		
31-Mar-17	PA	Reviewing and updating lease agreement and its Indonesian translation	1.50	275.00	412.50		

03-Apr-17	PA	Reviewing Preparing and reviewing Indonesian translations of transaction documents Emails to Mr Zak and Mr Knott; follow-up; review	2.00	275.00	550.00
31-May-17	GOR	translation lease agreement, side letters; email to Air Born; check fulfiment CPs; update closing checklist.	1.93	425.00	820.25
31-May-17	PA	Preparing bilingual version of MSN 31414 Side letter No 2	2.00	275.00	550.00
31-May-17	PA	Internal discussions, review of tansaction documents	1.50	275.00	412.50
02-Jun-17	PA	Arranging company search with Ditjen AHU	1.00	275.00	275.00
02-Jun-17	PA	Finalizing Internal discussions, preparing execution versions of the transction documents	1.50	275.00	412.50
03-Jun-17	PA	Reviewing corporate document and board resolutions	1.50	275.00	412.50
05-Jun-17	GOR	Holman: finalise checklist; email to Pak Ruel re outstanding CPs.	0.50	425.00	212.50
05-Jun-17	PA	Reviewing corporate document and board resolutions, reviewing draft response to the counterpart	2.00	275.00	550.00
07-Jun-17	GOR	Holman: Email to Mr Knott re execution Indonesian version of transaction docs.	0.10	425.00	42.50
14-Jun-17	GOR	Emails to Mr Knott; update CP letter.	0.20	425.00	85.00
21-Jul-17	PA	Research Draft acceptance review, research on Indonesian law aspects of foreign law lease novation, internal discussions	2.00	275.00	550.00
21-Jul-17	GOR	Email to Mr Zik re novation agreement.	0.20	425.00	85.00
24-Jul-17	PA	Reviewing 4 draft documents in connection with MSN 31414 sent by the client	3.50	275.00	962.50
24-Jul-17	GOR	Review docs for novation; email to Mr Knott; coordinate translation novation deed.	0.40	425.00	170.00
25-Jul-17	PA	Preparing Coordinating Indonesian translation by external translators, preparing standard translation of wordings	1.00	275.00	275.00
25-Jul-17	PA	Research with the DGCA regarding latest IDERA forms	1.00	275.00	275.00
25-Jul-17	GOR	Email to Mr Zik and Mr Robson; review DPOA, IDERA form, Letter of Authority, Deed of Novation.	1.50	425.00	637.50
26-Jul-17	PA	Revising Reviewing draft documents in connection with MSN 31414 sent by the client	2.00	275.00	550.00
27-Jul-17	PA	Reviewing and finalizing Indonesian translation by external translators	2.00	275.00	550.00
27-Jul-17	PA	Preparing hard copy IDERA form to be readily executed by the lessee	1.50	275.00	412.50
27-Jul-17	PA	Discussing Internal discussions	0.50	275.00	137.50
16-Aug-17	GOR	Email to Mr Robson; follow-up. Research and preparing first draft response for	0.20	425.00	85.00
16-Aug-17	PA	the client	1.50	275.00	412.50
16-Aug-17	PA	Preparing billingual draft of Side Letter No. 3	1.50	275.00	412.50
18-Aug-17 18-Aug-17	GOR PA	Review bilingual side letter; email to Mr Robson. Preparing draft response for the client	0.30 1.00	425.00 275.00	127.50 275.00
18-Aug-17	PA	Finalizing Reviewing, Finalizing bilingual draft od	1.50	275.00	412.50
25-Sep-17	PA	Side Letter No. 3 Revising Reviewing and revising draft response for the client, reviewing transaction documents	2.00	275.00	550.00
25-Sep-17	PA	Revising Reviewing and revising draft response	2.00	275.00	550.00
•		for the client, reviewing transaction documents Email to Chris and Guy re Indonesian docs,			
25-Sep-17	GOR	signing instructions.	0.30	425.00	127.50

26-Sep-17	PA	Reviewing draft response for the client, reviewing transaction documents	1.00	275.00	275.00
26-Sep-17	GOR	Email to Chris and Guy re further questions signing and IDERA.	0.30	425.00	127.50
30-Oct-17	GOR	Prepare advice re SOP/bankruptcy scenario.	0.50	425.00	212.50
_		Reviewing and commenting draft advice prepared			
30-Oct-17	KOS	by GOR re: bankruptcy law rules on executory contract	0.25	425.00	106.25
31-Oct-17	GOR	Finalize advice re SOP/bankruptcy scenario.	0.80	425.00	340.00
31-Oct-17	KOS	Commenting draft advice re: retention right	0.25	425.00	106.25
01-Nov-17	KOS	Commenting draft advice re: bankruptcy rules on lease	0.25	425.00	106.25
01-Nov-17	GOR	Finalize advice re SOP/bankruptcy scenario.	0.30	425.00	127.50
		TOTAL UNITS FOR HFW-17092 TOTAL FEES FOR HFW-17092	ι	109.14 JS\$25,884.50	

^{*1} Units = 60 Minutes